LSWN-8BL-3, -8BL-3-TA

CHANGED PARTS LIST / ZE/\—Y X}
WG HEE S BS3110501 LA

LSWN-28BL-3, -28BL-3-TA

Application product number:

After BS3110501

BEFOR CHANGE / Z &gl

P13

AFTER CHANGE / £E#

HRES | & o HmES (¥ o
No| ShEel™ | 2 && DESCRIPTION No| e | @ m & DESCRIPTION
1[25208 | 1 [@xiEER PRESSER BARPOSITION |1 | 4 118478 WAIEER PRESSER BAR POSITION
2 (25678 1 [#ZHEANLFLC  |SCREW 9/64X40 L=65 2135999 |1 [#HXHEENLAL | SCREW M6X1 L=6.0
3[15162-A | 1 |F—Y MACHINE PULLEY 3[15162-A| 1 |F—1) MACHINE PULLEY
- - - — — 4140162 |1 |84325S—)L TIMING LABEL
5 (34102 Té HOOK DRIVING SHAFT 5(34102-A| | TF&h HOOK DRIVING SHAFT
6 (34310 | 1 [#EYAL FEED DRIVING ECCENTRIC|! | 6 (34310 | 1 [#£UHL FEED DRIVING ECCENTRIC
7(141146 | 1 |RYBLEERSHRL|TE]SCREW  1/4X28 -l- - — —
8 (140409 | 1 [EYALLEAL SEJ SCREW 1/4X28 8(21144-A| 2 [EYAHLIEAL SEJ SCREW 1/4x28
- - - — — 9(37193 |2 |54F— SCREW PACKING (BRASS)
10[34300C | 1 |%vhL-Ovk@d)  (FEERLDRIVING ECCENTRICH, |10/ 34310C | 1 |#UhL-Ovk@) | HEDCRIVING ECCENTRIC
<Others /" Z D1t >
[=-3=1F | mExB
Pag| No 2| 2 BRES M w4 DESCRIPTION Pag| No | 2 2 Baks & m B DESCRIPTION
|| PARTS No| Q S PARTS Mo | Q

Lmm . POSITION SCREW, SLOTTED e Ny POSITION SCREW, HEX SOCKET

6 |48|x|*[10576 | 1 |fEHRHAL (RYTY) 15/64X28 L=21.0 6 48| *|*|50404 |1 | fLERHAL (AAR) 15/64X28 L=19.0
. SET SCREW, SLOTTED Ny SET SCREW, HEX SOCKET

6 |49 \% | *[10579 | 1|ksHRL(RYTY) 15/64X28 L=20.0 6 49| *|¥|50405 |1 | LU (RAR) 15/64X28 L=19.0
204 < 11953 1 35021 A SSRSSFEI SR SO0 |1 a0 1| 9020t () SEp S oo
206 % % (11953 | 1|49 (F) 1L (KBR)| ramepiar e SOCKET | 100 6% % (11176 | 1| A (F)kRL(RY7Y)| $7 SCREN, SLOTTED
2214 | | %1953 | 1|40 (£) AL (AfR)| S5 SSREW, HEXSOCKET | o9 4| 1411176 | 1| 4 (1) 1kAL(R)7Y)| SET SOREW, SLOTTED
226 | | #1953 | 1|48 (F) Ll (AR S50 oSrere HEXSOCKET 1o 6| 1411176 | 1| 40 (F) kAL (RY7))| SE osmire SLOTTED
0844%| (28058 | 1 |Bfspnl (KER) | Dokl HEX SOCKET 0844/ x| 30729 |1 | Ehkpnl (AfALs) | BT HEX

. - BOLT, HEX SOCKET ; s RER BOLT, HEX
3044 | 28058 | 1|#atHAL (AAR) | povi Do 3044/ |%30729 | 1 | BELHAL(ARKLL) | BT AN

PBA46440 (0923)




